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Subtraction : Worksheet -1  

1. Sita has 3 mangoes, she ate one mango. How many mangoes does she 

have? 

2. Do the following.  

a) 5 + _______ = 6 

b) 3 + _______ = 4 

c) _______ + 2 = 4 

d) 5 + _______ = 8 

e) 10 + _______ = 12 

3. Arun has 4 toffess. He gave 2 toffees to his brother how many toffees did 

he have now ? 

 

4. Do the following. 

 a)       = ______________ 

   6 – 2  =   = ______________ 

b)   

   8 – 3  =   = ______________ 

 c) 

       = ______________ 

                           10 – 4  =   = ______________ 


